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1403 Refer to the response to interrogatory TELUS(CRTC)16Mar01-404 dealing with accounting for employee future benefits.  Indicate the annual amortization amount assigned to the Utility segment and explain the basis for the assignment.

ANSWER

The annual amortization amount assigned to the Utility segment is $12.4M.  This was determined on the basis of the Phase III/SRB Salary and Wage/People Count Distribution Study, reflecting the fact that pension benefit calculations are directly related to salary compensation.  The Salary and Wage/People Count Distribution Study derives an SRB assignment ratio for salaries and wages by examining the Company’s salary and wage categories and determining the appropriate segment to which the associated costs should be assigned.  

